Efficiency vs hit fake+duplicates vs hits

0 0.02¢ ) 0.8
= F = F
S018p 2 o7f
B.016fF 2
s F = 0.6F-
E}.Oll‘v_— 4 F
E ® E
%.012F S OSE
E = E
0.01F 3 04f
F () F
0.008:— E 0.3F
0.006F- RE IR o ATl B | E
o . . . 0.2
0.004F 11 -r= T i .- E
° ot e ° ) P T AP T
§ B 1 Y 1 1 §1.05 H
) : : E! ;
i 0.95| “H
Ll llllll i . B
0O 5 10 15 20 25 30 35 40 0 20 25 30 35 40
TP hits track hits
—_— 5 :gi;geICPETempTate step? nl;av-p asgll-new eom
—— D 7p!erCPETempla(eCul(gh!SquarelOstepZitl%arrphasel—newgeom
—— DOM pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom
— —— DQM”pixelCPETemplateCutChiSquare20_step2_ttbar-phasel-newgeom
IEffIclenC —— D ixel CPETemplateCutChiSquare30_step2_ttbar-phasel- eom
0 0.02¢ o 08
) E )
o >
_@.018_ & 07
0
%.016 2
3 2 06
$.014 <
e 3 05
.012 =
@ 8
0.0 2 04
3
0.008, é 0.3
0.006 8
0.2]
0.004
0.002 01
o <P o 1Q
§ 2E--y 1 AR T T & 1.1
15F---F4-}4- i -------- - -
0 5 10 15 20 25 "0 20 25
TP layers track layers
[ fake+duplicates vs pixel layers |
0 0.02p o 05
) )
D018 0.
B.016F 2
[=H =%
9.014F Q0.
B.012F g
S 0.
5 g
' E
0. To.
Q
0.004 &

o

Ratio

o 1 2 3 4 5 6 7 8 0 1 2 3 4 5 6 7 8

0. 0.95
TP pixel layers track pixel layers
[ fake+duplicates vs 3D layers |
©0.02p %) =
7] o [ L
®.018F g [
D.016F 8 ogk-
1% o g L
0.014F- A
2 o s L
B.012F 5 0.6]-
L F Q o
5 0.0t g f
0.008F- S 0.4
r =] -
0.006F s
E K 3
0.004F = 0.2F-
0.002F [
9 Lu- 9 4149
& JF 8 12F
1_5_..5. N S 4 . 11 -
: : I iE-- I R R S R S
2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20

TP 3D layers track 3D layers



	Contents
	Page 1


